EARAZROREIERT — 2 N—XBISY —F 2017548268 (k) 1[@EIF5R14H

m SHEEREF £ 7R 3® ‘ (xfg] £ ‘ [REmshE  — | & () 15000 T2
[AE4£] 1% :250,000” ~ 23#%:70,000 "  33%&:53,000”  43%&:3500HMH .~ 57#&:17,000 H
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S N N BT 140. -1-1- . — JNBHA (timE)
1 413 FYTr7A7T "3 SEé.O 7 1(‘9)4 B ! (fg) 2@t o
Z:arFaay b BAFCY7 EvilLy RT7—L
#o3 | RERY 1:40.5 4444 | 41.4| — 1 M | BHHE (dtizE)
215|5 JIHO—Fzx 56.0 (1/2) (+4) HEE— .
L:70F—v B:L-—CHXb FEHAIS
- N = ft 3 | AHEEH 1:40.6 -1-1-1 |47 | — 3 438 | /NENSTT (ALiEE)
3011 |T7—3VTT> 5.0 (1/2) (+10) EIII%%r .
R:dr—3I0)7> BTXI/TT BA F=i
NN FRETS ; -4-5- - AAEE (AtisE)
N . BB 4 3 pasa 1.(431).2 4-4-5-5 | 42.0 5 zzg? ; 2 i
71 —=TZAHA BN rendf & %
A {4 REA 41, ~7-6- 2| - e (it
sy 6 N NVARYWA 4 3 %S (17272) 7-7-6-6 | 41.2 6 <4+172) éﬁ%\n BE
LT RIA YT w8 BiJ—RX¥x— BT 7 — L
. sy BREF2F 241, =i=i= . = ARE= (dtimE
6lzl 7| 7>van—+ 4 3 54.04 1(14/12)3 1=1-1-1 | 42.4 2 &0} A= B8
LY LTAN—t B:NCT-XIK B (ER
3 = it 3 | BYES 1:41.8 4-4-6-6 | 41.8| — 7 400 | ALIIHB (timd)
d > PRkt 54.0 21/2) () |EBET .
Lo RYIYIXIR BLT—TF4X b RS
@ 1 — S —EBIEf
13—7— (1,4,7),(2,3,5) .6
A== (1,4,7),(2,3,5) ,6
J=gr= (1,4,7),5,3,(2,6)
40—F— (1,4,7),5,3,(2,6)
[ N3
BB 4 690H 74K 4-5 180H B & 4-5 450 3EHE 1-4-5 650M
8 B 4 210M 1-4 320M B E 4-5 1,080 K31 4-5-1 5,380
5 150 1-5 200

ABICOVWTRDTEEERROODE. TR LIV,



